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General Instructions :
1. The question paper consists of four sections.
J Section A consists of 20 questions of 1 mark each.
o Section B consists of 6 questions of 2 marks each.
o Section C consists of 8 questions of 3 marks each.
J Section D consists of 6 questions of 4 marks each.
2. Please write the serial number of the question before attempting it.

3. In questions of constructions/graph, the drawing should be neat, clean and
exactly as per the given measurements. Use ruler and compass only.

4.  All questions are compulsory. However, internal choices have been given in
some questions.
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Section-A (@s-31)

Q. No. 1 to 10 are multiple choice questions. Select the correct option.

YT WM 1 W 10 T agiaemedt e €1 @El fashew g

1. If the square root of 5625 is 75, then :

% 5625 #1 aiga 75 ¥, d&-

J5625 + \56.25 + J0.5625 is equal to (SRR ®)

(a) 83.52 (b) 83.25

(c) 8.325 (d) 8325

2
2. The value of (x +ij is :

1 2
(x+;j <kl HIH %
2 1 ) 1
X"+ — x5 - —
(a) x2 (b) xz
(c) x2+i2+2 (d) x2—2+i2
X X

3. If the radius of a cylinder is doubled, its volume will be :

I Th focier =1 Adea™ IR H A WU al ST SAFaA BRm—

(a) 4 times (b) 3 times
4 T l
1 2 B
(e) 1 times (d) 2 times
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4.  Which of the following is not a case of direct variation ?
(a) Quantity of petrol to travel more distance with a fixed speed.
(b) Amount of fees if number of students increased in a class.

(c) Time taken if number of workers are increased to complete the same

work.

(d) Number of sheets of same kind, when their total weight is increased.
IO W B W Wl THEY H SR Tl @2

(a) U H WEI, SR W @ wE & fau W& ol fer @)

(b) ok &I TR, S99 TH wam & fgmef 9g

(c) A H UM, I Th &M@ & FH o @ HHR 9¢ |

(d) = *FS & YHR ThH 9 €, q SN H G & SHH! WH G W
5. Value of P for which (x> — 10x + P) is exactly divisible by (x — 2) is :

g x2 - 10x + P, (x — 2) 9§ woiew o fauifsa & o P &1 gea @

(a) 18 (b) 17

(c) 16 (d) 19

6. In the given figure, m Il n and p Il q. If £1 = 70°, then £2 is :
oG T el W, mIlndR pllgR AR L1=70° 7 @ L2

p
(a) 100° q
T\70°
< > > m

(b) 70°
(c) 80°
(d) 110° —

VIlI-Mathematics (3)



7. The point (2, 2) is :

(a) near to x-axis (b) near to y-axis

(¢) near to origin (d) equidistant from x-axis and y-axis
fag (2, 2) ®-

(a) x-3 o e (b) y-31& o fIae

(c) Ha fag & fawe (d) x-3181 3R y-31e7 ¥ TAF T W

8. If (0.4 + (0.2)* = \/x, then x is equal to
g (0.4)% + (022 = Jx T, @@ x R 7

(a) 0.04 (b) 04
(¢) 0.06 (d) 0.2

9. The value of x* + x (x*) when x = 2 is :

I x =27, T 22+ x () H AA B

(a) 24 (b) 25

(¢c) 26 (d) 27

10. Factors of x* — y* are :

x* -yt & prEe @

(@) (x+y), @ +y), @« +y?) (b) (x +y), (x — ), &% —y?
() (x—y), x —y), & —y?) (d) (x—y), x +y), & + y?)
OR (3A¥an)
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The value of y if

y & 9A %, AR

(55)2 — (20)? = 35«

(a) 175 (b) 85
(c) 65 (d) 9

Fill in the blanks in Q. No. 11 to 15.

(5 11 9 15 ¥ foga wom afw))

11.

12.

13.

The number of sides in a regular polygon whose each angle equal to 108° is

T TEfa aggs | oqeneti & gen g, TSo®1 g & 108° 2|

OR (31¥En)
The sum of interior angles of a polygon having 15 sides is

T SgS o SN HIUN wHT A g fSE=t 15 el €

Representing data graphically in the form of rectangles, with no gap between

the successive rectangles is called
Hd AFal oh o9 IS AR & TH oh WY Al oh ®Y W IkSl 1 iAHTHE

T FEl Wl g

The least number by which 24 must be multiplied to get a perfect cube is

Tk FgAqq g, S99 24 &1 o0 W TE Ul B Hel WS ©
2l
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14.

15.

The perimeter of a parallelogram whose parallel sides have lengths equal to

12 cm and 7 em is

TH G Sqds 1 uify 7, fome guiR gemd 12 9. e 7 9 €

The points at which the two perpendicular axes meet is called

g fag W 1 woea o foed €, 9 el Sl

Q. No. 16 to 20 are very short answer type questions.

WE 16 ® 20 d% Ifd @Y IW o Y &

16.

17.

18.

19.

If F =18, V = 10 then find the value of E (Edges) by Euler’s formula.
g F=18,V=10%, @ (Euler) & ¥ ¥ &Rl =1 ¥&n [E &1 ged] @ Hifu)

A dice is thrown once. Find the probability of getting a number greater than 4.

T U H TH IR ekl ST Bl 4 W SAE TN UK F bl GIAehdl Fd SIS

Calculate the value of ‘¢’ in the following expressions :

frafafaa sifyaaf & % & g9 &1 T0A1 HifSg

H 3 ) E 6 B E 2x-1
9 9 9
Divide :
125x° by 5.5 x°

AN IS

125x° by 5.5 x°
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20.

21.

22.

If a point D divides line segment AB of length 10 cm internally in the ratio 2 : 3,
then find the length of AD.

I TH 10 9. T WEe AB &l T fag D, 2:3 % AU § ofaRe €9 § fowifea
FE 7 dl AD 1 owErRE wd SIS

Section-B (@s-9)

Find the cube root of (— 13824) by prime factorisation method.

(— 13824) 1 319FF PHEES Ugfd g0 ¥4 HA FA HIfSU
OR (3t¥a)
If 72 k is a perfect cube, find the smallest value of K.

g 72k ©H gol ¥ ?, A k K1 FAGH HA A@ HifE)

Plot A (3, 2), B (0, 4), C (1, 2), D (2, 4) on the same graph paper.

fog A(3,2),B(0,4),C(1,2),D (2,4 = TH T TH IR W Hfeha &INT

Alternative question for visually challenged students in lieu of Q. No. 22

Evaluate :
31+ + (@1 -3t

Y WEm 22 % WH R ety faafMa & faw dwferw g
UH A[ i

(3—1 + 6_1)0 + (2—1 _ 3—1)—1
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23.

24.

25.

Simplify and express the result with positive exponent :

(- 23 x (- 2)7
46

YFICH: WTdieh oh 1Y YROMH k! WA ®Y U e hifST

(- 23 x (- 2)7
46

In the given parallelogram ABCD, find the value of x and y.

R T @ wqES H x Ryl AE A iy

C

A B

The sum of squares of two numbers is 145. If square root of one number is 3,

then find the other number.

T Hemstt o o w1 AN 145 ¥ AR TH GO H aigd 3@ df S @ [ Hife)
OR (319a)

Find the positive value of the variable which satisfies the given equation :

o o~ faY 3

SH T I YdldHeh HE FAd R foow frafafea g qqee  |ldl %
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26. The following is the frequency distribution table for the ages of the students

in a school. Answer the following questions :

Age (in yrs.) No. of students
0-5 35
5-10 45
10-15 50
1520 30

(a) What is the class size of the class intervals ?
(b) What is the upper limit of the fourth class interval ?
(¢c) What is the lower class limit of the second class interval ?

(d) What is the class mark of 0-5 ?

rd B 3 # eg & fau emgfa faawor aifee H= @ ?) frefafed ge i % SW

IS
A (e W) foenfefai =1 wen
0-5 35
5-10 45
10-15 50
15-20 30

(a) o S *T MHR FT B2

(b) = o F AW H FIX G T ??
(c) fedta gofi o oiawa =1 e dim = 22
(d) 0-5 1 =i fegd @0 22
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27.

28.

29.

30.

31.

Section-C (WeS-9)

Find the square root of 2.2 correct to two places of decimal.

2.2 1 YA AT H & WA Tk WS, Fd hIfS
0 4
Evaluate : (3% + (%) +(3)° x [%)

0 4
o wm W (323 + @ - (3P x@

_1/
3 2
Evaluate : 9 /2 —3x 5% — (L]

3/ 0 1 e
qq Jd sifsel 9 ‘2 —3x5 _(ﬁj

The number 351 is divided into two parts in the ratio 7 : 2. Find the difference

between two numbers.

e 351 9 H 7 :2 o o fawnfed @t S €1 3 Q1 9N w1 SR i ehiter)

The diagonal of a rectangle is thrice its smaller side. Find the ratio of its sides.

T AEd 1 fashol ST B oM w1 A AT FI OSHHRT qoneH H UM F@ e

2 1 1
If Y +y_2:11, find the value of y—;,

2 1_11 1
afg Y +?— g, y—;?mmamﬁfam
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32. Shiva wants to buy a trapezium shaped field. Its side along the river is parallel
and twice the side along the road. If the area of this field is 10,500 m? and
perpendicular distance between the two parallel sides is 100 m, find the length
of the side along the road.
foren % TG % MHR K1 WA WA FRdl B 39 Bd &I A oh W Al e
GEH o WY dell g % TR ¢ IR o W SHE I 2 A 3 ©d 1 aehd
10,500 H* € 3R < TEWR yeeti o W= # oded g 100 WL ¥, 9 Gk o WY
et S 1 ddls 1 hied|

—31 1 Road [

D C

100 m

33. In the given figure, lines p |/ and [ || g. Find x with the help of the measures

given in the figure. Justify your answer also.

feg mq for #, Y@ p || lqw | g B fox § Ry U A w1 wEEd 9@ x H1 uH

A HIGW 9 ST Ht S o Swifsq) p:40° ? "

30°
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OR (31an)

In the given figure lines p || ¢ and [ || m. Find measures of Za, Zb and Zc with

the help of the measures given in the figure. Justify your answer also.

feq g fot W W@ p || g e || m @ fad ® Ry g Al # WeEar @ &g,
BT b, HIU ¢, A HISC A9 SW Hi o T 3V

17\ q
80° /
> [

»

A

a

34. A farmer has enough food to feed 28 animals in his cattle shed for 9 days. How

A

long would the food last, if there were 8 more animals added in his cattle shed?

T e o a9 feai o fau or wash vie ¥ 28 SHa i faam o fau waiw
g5 21 9fE ST waeh 9 ¥ 8 WHer 3R Sig gy wd, df Wi fran &7 = o

OR (31¥an)

If \/5 is inversely proportional to r and \/5 =9 when r = 4. What is the value

of r when q = 4.

g Jg FSFAIIR rF T IR AR r=4T A Jg=9 T rF AW w0 W AR

q=4%l
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35.

36.

37.

Section-D (@Ws-%)

Find the least number that should be added to 9108 to make it a perfect
square. Also, find the square root of the number so obtained.

39 JAqH &A1 hl FA HIWC S TEH YUl o §M ok faw 9108 # Sl SMUl g
9@ N Figa ol 7@ s

Find the difference between the quotient and remainder when
2¢* + 4x® + 4x — x® — 7 is divided by (x — 1).
2t + 4x +dx — a3 — 7 F (x — 1) 9 9N HIST R 9FTFHA de TR H A
ERECIIE L
OR (31¥a)

Using division method, show that (— 1 + x) is a factor of (— 1 + x*) and verify

your answer also.

arr faf &1 gEm ek ST R (- 1+ x) SgUS (— 1+ &%) F PREE ® R e

ST HI = o SIS

Four times the area of the curved surface of a cylinder is equal to 6 times the
sum of the areas of its two bases. If its height is 12 cm, find its curved surface

area.

TH o oh Tohid &F%A 1 IR AT, IHeh qHl AR SR o &F%wal o I §
6 T Bl AR T doH H SR 12 W, T A THHT TRl &FhA A I

OR (31¥an)

The outer diameter of a metallic tube is 14 ¢cm and thickness of the tube is

1 cm. Find the weight of 200 cm long tube if the density of the metal is 7 gm /

cm3 .

TH oG 1 T H GEA A 14 WHL ¥ R gF &1 WRE 1 FHL T AR ug w
e 7 U/ 9 ? d 200 ¥H. @ 299 HT IR F@ i
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38. The sum of the digits of a two digit numbers is 7. If the number formed by
reversing the digits is less than the original number by 27, find the original

number.

T AR HI TH GO ok AR H AN T | Fhl I Toled W S @ HA @ o
27 ®° ¥, @ U@ TE T Hifu)

39. Construct a quadrilateral ABCD in which BC = 5.5 cm, CD = 3.5 cm, /B = 45°,
ZC = 120° and £D = 90°.

Tk =qgst ABCD &t @1 &itsie &8 BC = 5.5 cm, CD = 3.5 cm, /B = 45°,
ZC =120° 3R /D = 90° 2

Alternative question for visually challenged students in lieu of Q. No. 39

ABCD is a rectangle in which Dp and BQ are perpendiculars from D and B
respectively on diagonal A(C. Show that :
(i) AADP = ACBQ (i1)) ZADP = ZCBQ

(i) Dp = BQ

Y W& 39 % WM W gfeaiya famfal o faw defeuw W

ABCD w* @@ @ 5" pp @R BQ., fa®d AC ® wH¥: D 3k B ¥ @aed 2|

fewmd
(i) AADP = ACBQ D ¢
Q
(i) ZADP = /CBQ
i = - 5o
u) pp = BQ 5
A B
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40. The following data gives the distribution of daily earnings (in ) of 30 drug

stores.

Daily earnings | 400-500 | 450-500 | 500-550 | 550-600 | 600-650 | 650-700
(in %)

No. of stores 8 5 7 3 2 5

Draw a histogram for the above data.

e srhe 30 <OEAl # gEEl % gfafe w1 e (¥ W) oF faww wi gwid ©

e e 400-500 | 450-500 | 500-550 | 550-600 [ 600-650| 650-700
(T98 H)
IRl Rl HEA 8 5 7 3 2 5

T fGu U ondel & fou uw emud fad sHEu

Alternative question for visually challenged students in lieu of Q. No. 40

V128 + 125
If V2 =1.414, 5 = 2.236 and /3 = 1.732, find the value of i

Y HWEN 40 % W W feafya faenfE & fau defeaw v
R 2 =1.414, 5 =2.236 ¥R J3-1732 ¥, @ f= &1 79 F@ FEC

V128 + /125
V147

OR (31¥a)
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The following table shows the various modes of transport used by 1260 students

in a school :
School Bus | Private Bus Bicycle Rickshaw On foot
350 245 210 175 280

Represent the above data by a a pie chart.

= aiferest e dreemen | 1260 fa=nfei=i grn fafy= wer o ufRaed &1 w9 3 &+

SE G I

e &Y st = i T et

350 245 210 175 280

TR U MU swel o fau s g9 o s R

Alternative question for visually challenged students in lieu of Q. 40

A motorboat goes downstream in river and covers a distance between two
towns in 5 hrs. It covers this distance upstream in 6 hours. If the speed of the

stream is 3 km/hr, find the speed of the boat in still water.

Y G 40 % WH W gfeatua faaRial & oy dwfers wwe
TF AW I o FE@ o b o YU o o= i g 56 H qF wedl g1 El
T 98 U % T o fahd 6 W B 97 it @1 AR Ut ok o' H o= 3 R

gfa " 7 @ Hie@ie & 38 UMl H 9 i sifeu

00oa
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